Lesson 130 Practice Test

Name

For items 1 and 2, study the table. Then fill in the circle next to the correct answer.

what they eat how long they can | body covering how many legs
live
owls meat about 25 years feathers two
trout insects about 5 years scales none
horses plants about 30 years hair four
geese plants about 30 years feathers two

1. Which statement is false?

2. Which statement is true?
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O A. Geese and owls have the same body covering.

O B. Horses have more legs than trout.

O C. Horses and geese eat the same thing.

O D. Owls have more legs than horses.

O A. Trout can live longer than owls.

O B. Owls and geese eat the same thing.

O C. Trout eat flies and other bugs.

O D. Geese have more legs than owls.
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For items 3 and 4, study the menus. Then fill in the circle next to the correct answer.

Fish House A Fish House B
Fish and chips $4.95 Fish and chips $4.95
Shrimp burger $3.95 Shrimp burger $4.95
Clam chowder $2.95 Clam shower  $2.95
Tuna salad $2.95 Tuna salad $2.95

3. One of the items at Fish House B costs more than the same item at Fish House A. Which item?
O A. Fish and chips
O B. Shrimp burger
O C. Clam chowder
O D. Tuna salad

4. One of the items at Fish House A is spelled differently than the same item at Fish House B.
Which item?
O A. Fish and chips
O B. Shrimp burger
O C. Clam chowder
O D. Tuna salad
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For items 5 and 6, fill in the circle next to the correct answer.
5. Which verb goes in the blank to make a correct sentence in the present tense?
The tiger ____lots of stripes.
O A. have
O B. has
O C. had
O D. hadn’t

6. Complete this analogy: Trees are to tall as flowers are to
O A. short
O B. pretty
O C. leaves
O D. branches

For items 7 and 8, write your answers on the lines.
7. Write this sentence the correct way.

i cant open the door because its stuck lenny said
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8. Here’s the first part of a story:
Linda and Lester were walking in a forest. The trees were big and tall. Linda and
Lester saw a tree that had a little door in its trunk. Linda opened the door and looked

inside.

Finish the story. Tell what Linda and Lester said and what happened next. Write at least

five sentences.

STOP. Go back, and make sure your answers are correct.
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